MANATEE COUNTY GOVERNMENT INTENT TO AWARD

IFB NO. / TITLE	19-TA003135BB / GRAVITY SEWER REPLACEMENT – PORT MANATEE	DATE POSTED	MC DS	CC BCC
PROCUREMENT REPRESENTATIVE	Brooke Baker	PROJECTED AWARD DATE	November 26, 2019	
DEPARTMENT/DIVISION	Public Works Department	AUTHORIZED BY DATE	Theresa Webb, Pro	ocurement Official

NOTICE OF INTENT TO AWARD

The Manatee County Procurement Division provides notice of its intent to award a contract with Subterrain Technologies, Inc. for the provision of a gravity sewer replacement at Port Manatee.

ENABLING/REGULATING AUTHORITY

Manatee County Procurement Ordinance, Sec 2-26.

BACKGROUND/EVALUATION

The Scope of Work consists of the construction of approximately 296 LF of 8-inch HDPE gravity sewer from Manhole #11962 to Manhole #11963 by pipe bursting methodology; connecting two (2) 6-inch PVC service laterals, and restoration of Manholes #11962 and #11963. Additionally, the project includes restoration of pavement that will be disturbed by the construction of the proposed improvements.

The solicitation was advertised on September 20, 2019 on the Manatee County website and DemandStar. It was also provided to the Manatee County Chamber of Commerce and the Manasota Black Chamber of Commerce for release of its members and in the Bradenton Herald and Tempo News newspapers. Responses were received from the following firms:

- 1. Austin Construction Group Inc., Tampa, FL
- 2. Subterrain Technologies, Inc., Palmetto, FL

EVALUATION SUMMARY:

Subterrain Technologies, Inc. is the lowest responsible, responsive bidder(s). A bid tabulation of the results is attached to this Notice of Intent to Award.

RECOMMENDATION

The Procurement Division and the Public Works Department recommend award to Subterrain Technologies, Inc.

INTENT TO AWARD	(continued)

ATTACHMENTS (List in order of attached)	1.) Bid Tabulation	NAME AND NUMBER OF FUNDING SOURCE	Utility Rates / 4025154080- 534000
COST	\$229,571.10	FUNDS VERIFIED	Yes

_Page 2

BID TABULATION IFBC NO. 19-TA003135BB

GRAVITY SEWER REPLACEMENT – PORT MANATEE

CLOSING DATE/TIME: OCTOBER 29, 2019 at 3:00 PM
BID "A" BASED ON COMPLETION TIME OF 180 CALENDAR DAYS

BID "A" BASED ON COMPLETION TIME OF 180 CALENDAR DAYS				Subterrain Technologies, Inc.		Austin Construction Group Inc.	
				Palmetto, FL		Tampa, FL	
ITEM	DESCRIPTION	QUAN	NTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
. PRE-CONST	RUCTION	I					
1	Mobilization	1	LS	\$19,180.00	\$19,180.00	\$9,600.00	\$9,600.00
2	Maintenance of Traffic	1	LS	\$3,360.00	\$3,360.00	\$4,240.00	\$4,240.00
3	Preconstruction Video	1	LS	\$2,100.00	\$2,100.00	\$3,624.00	\$3,624.00
4	Record Drawings	1	LS	\$3,920.00	\$3,920.00	\$2,880.00	\$2,880.00
SUBTOTAL (PF	UBTOTAL (PRE-CONSTRUCTION)						\$20,344.00
I. PROPOSED	IMPROVEMENTS						
5	Environmental Coordination	1	LS	\$3,640.00	\$3,640.00	\$10,032.00	\$10,032.00
6	Erosion and Sediment Control	1	LS	\$4,760.00	\$4,760.00	\$2,830.00	\$2,830.00
7	Utility Locates	1	LS	\$1,190.00	\$1,190.00	\$1,420.00	\$1,420.00
8	8" HDPE DR 17 IPS Pipe (Pipe Burst)	296	LF	\$249.00	\$73,704.00	\$368.00	\$108,928.00
9	Soil Subgrade	125	CY	\$120.80	\$15,100.00	\$52.00	\$6,500.00
10	Crushed Concrete Base	80	SY	\$158.20	\$12,656.00	\$168.00	\$13,440.00
11	Structural Course Asphalt Base - SP 19.0	19	TN	\$273.00	\$5,187.00	\$515.00	\$9,785.00
12	Friction Course Overlay - SP 12.5	13	TN	\$266.00	\$3,458.00	\$370.00	\$4,810.00
13	Milling	40	SY	\$63.00	\$2,520.00	\$136.00	\$5,440.00
14	Lateral Reconnection	2	EA	\$10,787.00	\$21,574.00	\$4,000.00	\$8,000.00
15	Bypass Pumping	1	LS	\$9,100.00	\$9,100.00	\$18,000.00	\$18,000.00
16	Manhole Rehabilitation	2	EA	\$4,508.00	\$9,016.00	\$6,000.00	\$12,000.00
17	Remove and Replace 8" PVC Sewer Line	20	LF	\$911.80	\$18,236.00	\$150.00	\$3,000.00
SUBTOTAL (PF	JBTOTAL (PROPOSED IMPROVEMENTS)						\$204,185.00
OTAL BASE BID "A" - BASED ON COMPLETION TIME OF 180 CALENDAR DAYS					\$208,701.00		\$224,529.00
ONTRACT CONTINGENCY 10% (USED ONLY WITH COUNTY APPROVAL)					\$20,870.10		\$22,452.90
OTAL OFFER FOR BID "A" WITH CONTRACT CONTINGENCY - BASED ON COMPLETION TIME OF 180 CALENDAR DAYS				N TIME OF 180	\$229,571.10		\$246,981.90

BID TABULATION

IFBC NO. 19-TA003135BB

GRAVITY SEWER REPLACEMENT – PORT MANATEE CLOSING DATE/TIME: OCTOBER 29, 2019 at 3:00 PM

BID "B" BASED ON A COMPLETION TIME OF 240 CALENDAR DAYS

BID "B" BASED ON A COMPLETION TIME OF 240 CALENDAR DAYS			Subterrain Tec	hnologies, Inc. Austin Con-		struction Group Inc.	
				Palmetto, FL		Tampa, FL	
ITEM	DESCRIPTION	QUAN	NTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
I. PRE-CONSTR	UCTION				•		
1	Mobilization	1	LS	\$19,180.00	\$19,180.00	\$9,600.00	\$9,600.00
2	Maintenance of Traffic	1	LS	\$3,360.00	\$3,360.00	\$4,240.00	\$4,240.00
3	Preconstruction Video	1	LS	\$2,100.00	\$2,100.00	\$3,624.00	\$3,624.00
4	Record Drawings	1	LS	\$3,920.00	\$3,920.00	\$2,880.00	\$2,880.00
SUBTOTAL (PRI	E-CONSTRUCTION)				\$28,560.00		\$20,344.00
II. PROPOSED I	MPROVEMENTS				•		
5	Environmental Coordination	1	LS	\$3,640.00	\$3,640.00	\$10,032.00	\$10,032.00
6	Erosion and Sediment Control	1	LS	\$4,760.00	\$4,760.00	\$2,830.00	\$2,830.00
7	Utility Locates	1	LS	\$1,190.00	\$1,190.00	\$1,420.00	\$1,420.00
8	8" HDPE DR 17 IPS Pipe (Pipe Burst)	296	LF	\$249.00	\$73,704.00	\$368.00	\$108,928.00
9	Soil Subgrade	125	CY	\$120.80	\$15,100.00	\$52.00	\$6,500.00
10	Crushed Concrete Base	80	SY	\$158.20	\$12,656.00	\$168.00	\$13,440.00
11	Structural Course Asphalt Base - SP 19.0	19	TN	\$273.00	\$5,187.00	\$515.00	\$9,785.00
12	Friction Course Overlay - SP 12.5	13	TN	\$266.00	\$3,458.00	\$370.00	\$4,810.00
13	Milling	40	SY	\$63.00	\$2,520.00	\$136.00	\$5,440.00
14	Lateral Reconnection	2	EA	\$10,787.00	\$21,574.00	\$4,000.00	\$8,000.00
15	Bypass Pumping	1	LS	\$9,100.00	\$9,100.00	\$18,000.00	\$18,000.00
16	Manhole Rehabilitation	2	EA	\$4,508.00	\$9,016.00	\$6,000.00	\$12,000.00
17	Remove and Replace 8" PVC Sewer Line	20	LF	\$911.80	\$18,236.00	\$150.00	\$3,000.00
SUBTOTAL (PROPOSED IMPROVEMENTS)					\$180,141.00		\$204,185.00
TOTAL BASE BID "B" - BASED ON COMPLETION TIME OF 240 CALENDAR DAYS					\$208,701.00		\$224,529.00
CONTRACT CONTINGENCY 10% (USED ONLY WITH COUNTY APPROVAL)				\$20,870.10		\$22,452.90	
TOTAL OFFER FOR BID "B" WITH CONTRACT CONTINGENCY - BASED ON COMPLETION TIME OF 240 CALENDAR DAYS			\$229,571.10		\$246,981.90		